

$$\frac{a}{q}, a, aq, \dots \Rightarrow \frac{a}{q} \times a \times aq = 27 \Rightarrow a^3 = 27 \Rightarrow a = 3 \Rightarrow \frac{a}{q} + a + aq = 21 \Rightarrow \frac{3}{q} + 3 + 3q = 21 \Rightarrow \frac{3}{q} + 3q - 18 = 0 \Rightarrow 3q^2 - 18q + 3 = 0 \Rightarrow q = \frac{-(-18) \pm \sqrt{(-18)^2 - 4(3)(3)}}{2(3)} = \frac{18 \pm 15}{6}$$

$$\rightarrow \int \frac{1}{x} dx = \ln|x| + C$$

من حسابا بسطت 1 قابل قبول

$$(2x)^2 = (x^2 - 2)(x^2 + 2) \Rightarrow 4x^2 = x^4 + 2x^2 - 2 \Rightarrow 2x^2 = x^4 - 2 \Rightarrow (x^2 - 2)(x^2 + 2) = 0$$

$$Sr = \sum_{n=1}^{\infty} \left(\frac{1}{n} \right)^x = \sum_{n=1}^{\infty} \frac{1}{n^x} = \frac{1}{1^x} + \frac{1}{2^x} + \frac{1}{3^x} + \dots$$

$$x^2 = 2 \Rightarrow x = \pm \sqrt{2} \Rightarrow q = \frac{1}{\sqrt{2}}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{11}, S_n = a_1 + a_1q + a_1q^2 + a_1q^3 + a_1q^4 = a_1(1 + q + q^2 + q^3 + q^4) = 25 \times \frac{121}{11} = 275$$

$$A: \frac{1+2x}{x} = \frac{3}{x} \Rightarrow B^2 = 1 \times 2x \Rightarrow B = \pm \sqrt{2x} \Rightarrow \begin{cases} A+B = \frac{3}{x} + \sqrt{2x} = 1 \\ A-B = \frac{3}{x} - \sqrt{2x} = 1 \end{cases}$$

$$a_{n+1} = a_n + d, d = \frac{-9a}{x} - (-24) = \frac{1}{x} \Rightarrow a_{n+1} = -24 + 1 \times \frac{1}{x} = 1$$

$$121, a_1, \dots \Rightarrow a_n = 121 \times q^{n-1} \Rightarrow a_1 = 121 \times q^0 = 121 \Rightarrow q = \frac{1}{2}$$

$$a_1, a_2, a_3$$

$$a_1 + 2d, a_1 + 4d, a_1 + 6d \Rightarrow (a_1 + 2d)^2 = (a_1 + 4d)(a_1 + 6d) \Rightarrow a_1^2 + 4a_1d + 4d^2 = a_1^2 + 10a_1d + 24d^2 \Rightarrow 2d^2 = 3a_1d \Rightarrow 2d(1-d+a_1) = 0 \Rightarrow 1+2d=0 \Rightarrow d=-\frac{1}{2}$$

$$\Rightarrow 2d^2 = 3a_1d \Rightarrow 2d(1-d+a_1) = 0 \Rightarrow 1+2d=0 \Rightarrow d=-\frac{1}{2}$$

$$a_1, a_2, a_3$$

$$a_1 + d, a_1 + 3d, a_1 + 5d \Rightarrow (a_1 + 3d)^2 = (a_1 + d)(a_1 + 5d) \Rightarrow a_1^2 + 6a_1d + 9d^2 = a_1^2 + 6a_1d + 5d^2 \Rightarrow 4d^2 = 0 \Rightarrow d = 0$$

$$2d^2 = 3a_1d \Rightarrow d = a_1 \Rightarrow 2a_1, 3a_1, 4a_1 \Rightarrow q = \frac{3a_1}{2a_1} = \frac{3}{2} \Rightarrow a_1 = a_1, q = \frac{3}{2} \Rightarrow 121$$

$$K_{ar}, r_{ar}, a_r$$

$$K(a, q), r(a, q^r), a, q^r \Rightarrow r_{ar} q^r = \frac{K_{ar} q + a, q^r}{r} \Rightarrow -K_{ar} q^r + K_{ar} q + a, q^r = 0$$

$$\Rightarrow a, q(-K_{ar} q + r_{ar} q^r) = 0 \Rightarrow (q-1)(q-r) = 0 \Rightarrow (q-1)(q-r) = 0 \Rightarrow q=1 \text{ و } q=r$$

$$d = \frac{V}{F} \quad r = -\frac{1}{F} \Rightarrow a_r = r + r \times \left(-\frac{1}{F}\right) = -\frac{2}{F}$$

$$\left. \begin{aligned} a_{1r} = r + V \times \left(-\frac{1}{F}\right) &= \frac{1}{F} \\ a_{1r} = r + V \times \left(-\frac{1}{F}\right) &= -1 \end{aligned} \right\} \rightarrow \frac{a}{F} + \lambda, \frac{1}{F} + \lambda, -1 + \lambda \Rightarrow \left(\frac{1}{F} + \lambda\right)^r =$$

$$\left(\lambda + \frac{a}{F}\right)(\lambda - 1) \Rightarrow \frac{1}{F} + \lambda^r + \frac{1}{F} \lambda = \lambda^r + \frac{1}{F} \lambda - \frac{a}{F} \Rightarrow \lambda = \frac{-r}{F} \Rightarrow -r, -a, -\frac{r\omega}{F}$$

$$\Rightarrow q = \frac{-r}{F} = \frac{a}{F}$$

$$a_1 + a, q^r + a, q^r = V^r$$

$$t_1 = a_1 = a, \quad t_r = a_r = a q^r, \quad t_{1r} = q_v = a q^r$$

$$t_r = a q^r$$

$$t_r = \frac{t_1 + d}{a} \quad \left\{ \begin{aligned} a q^r &= \frac{a_1 + d}{a} \rightarrow d = a(q^r - 1) \end{aligned} \right.$$

$$t_{1r} = a q^r = a + q a (q^r - 1) = a + q a q^r - q a = r a q^r - q a q^r + \lambda a = 0 \Rightarrow a(q^r - q q^r + \lambda) \Rightarrow$$

$$q^r = \frac{q \pm \sqrt{1 - 4r}}{2} \Rightarrow \left. \begin{aligned} r=1 &\rightarrow q^r=1 \rightarrow q=r \\ q^r-1 &\Rightarrow q=1 \end{aligned} \right\} \rightarrow \left. \begin{aligned} q=1 &\rightarrow a + a + a - V^r + a = \frac{V^r}{F} \\ q=r &\rightarrow a + \lambda a + r a = V^r \end{aligned} \right.$$

$$a = \frac{V^r}{F} \Rightarrow d = a(q^r - 1) = \frac{V^r}{F} \times (1 - 1) = 0$$

$$a=1 \Rightarrow d = a(q^r - 1) = 1 \times (1 - 1) = 0$$